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Write all answers in your bluebook. Show all of your work. 

 

 

 

 

 

1. According to the Federal Reserve Bank of San Francisco article "A Better CPI", the 1996 Boskin Commission identified four major sources of bias in the Consumer Price Index (CPI). For each of the four sources of bias in the CPI, do the following:

(a) (8pts) list and define the source

(b) (4pts) explain what the Bureau of Labor Statistics has done to reduce the bias caused by this source.

 

 

 

2. Suppose that a country's population increases, with no change in its capital stock. Assume that the country has a Cobb-Douglas production function and perfectly competitive markets.

 

(a) (10pts) What happens to the marginal product of labor and the wage paid to labor? 

Explain, with reference to a labor supply and labor demand diagram.

 

(b) (10pts) What happens to the marginal product of capital and the rental price of capital? Explain, with reference to a capital supply and capital demand diagram.

 

 

 

3. Consider the Cobb-Douglas production function where real aggregate output Y is given by Y = A K_(LxE)1-_, in which A=20 is a parameter measuring the productivity of the available technology, K is the amount of capital employed, L is the amount of labor employed, and a=0.35. Here, E indicates the effectiveness of each worker, so that LxE is the amount of effective workers employed (also called the number of efficiency units of labor). The annual depreciation rate in this economy is 0.05, the savings rate is 0.3, the population grows at the annual rate of 0.03, and the measure of labor effectiveness, E, grows at the annual rate of 0.01. 

 

(a) (5pts) Find the steady-state level of capital per effective worker. 

 

(b) (5pts) In the steady-state for this economy, at what rate does per capita real income (Y/L) change?

 

(c) (5pts) Find the golden-rule savings rate.

 

(d) (3pts) True or false? The economy automatically reaches the golden rule steady state in the long run. Explain your answer.

 

 

 

4. (10pts) Explain why economists use a Cobb-Douglas production function to describe the United States macroeconomy.

 

 

 

5. (a) (3pts) Define the natural rate of unemployment.

 

(b) (5pts) Explain how to estimate the natural rate of unemployment.

 

(c) (17pts) Explain why the natural rate of unemployment is not zero. Provide a thorough explanation, including all of the reasons Mankiw cites in Macroeconomics.

 

 

 

6. (26pts) Suppose you have a friend who is confused about the concept of a multiplier. In particular, he does not understand how the money multiplier, the expenditure multiplier, and the tax multiplier differ. Thoroughly explain to your friend what each multiplier is, how to derive each multiplier, and what each is used for. For the money multiplier, assume an economy in which people hold some currency, banks hold some excess reserves, and there is one kind of deposit (a transactions deposit). 

 

 

 

7. Consider an economy in which the growth rate of potential Gross Domestic Product (GDP) is estimated to be approximately 2.6%. Suppose the Federal Reserve conducts the following monetary policy: the Fed lowers the Federal Funds Rate whenever the GDP growth rate falls below 2.2%, and the Fed raises the Federal Funds Rate whenever the GDP growth rate rises above 3.4%.

 

(a) (5pts) Is this policy an example of an activist or nonactivist policy? Explain how you can tell, with reference to a definition of activist policy.

 

(b) (5pts) Is this policy an example of a policy rule or a discretionary policy? Explain how you can tell, with reference to a definition of a policy rule and a definition of discretionary policy.

 

(c) (10pts) Consider the Keynesian sticky wage Aggregate Supply and Aggregate Demand (AS-AD) model, in which nominal wages are fixed by contracts. Describe the effects of the Fed's policy over the course of the business cycle. Refer to the Keynesian AS-AD diagram in your explanation.

 

(d) (10pts) Consider the monetarist worker misperception model. Describe the effects of the Fed's policy over the course of the business cycle. Refer to the monetarist AS-AD diagram in your explanation.

 

 

 

8. Consider the Lucas aggregate supply curve model.

 

(a) (10pts) If the Federal Reserve wished to lower the inflation rate without raising the unemployment rate, what would the Fed have to do? Explain, with reference to the Lucas AS-AD diagram.

 

(b) (10pts) If the Fed wished to lower the unemployment rate, what would the Fed have to do? Explain, with reference to the Lucas AS-AD diagram.

 

 

 

9. Consider the Real Business Cycle (RBC) school of thought. 

 

(a) (10pts) Explain (thoroughly) the connection between technology shocks and business cycles, according to this theory.

 

(b) (10pts) What evidence does the Solow residual provide to support the RBC claim about the relationship between technology shocks and changes in output? Be sure to define the Solow residual in your explanation.

 

(c) (10pts) According to Mankiw in Macroeconomics, what arguments do the critics of Real Business Cycle models make?

 

 

 

10. (10pts) Suppose that a particular economy has an average annual nominal interest rate of 6.5%, an average annual inflation rate of 3.2%, a depreciation rate of 4.0%, and a savings rate of 11.5%. Its labor supply grows at an average annual rate of 1.2% and labor productivity grows at an average annual rate of 1.4%. Suppose that the government initially runs a balanced budget. Then, the government increases expenditures and cuts taxes. Will the government be forced to either raise tax rates or cut government expenditures at some point in the future? Explain.

 

 

 

 

